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FB7 oA =N\ T14x v TTINIFEREBFAISR) BER

BB 20134 1178 8H (&) SEmMA# 72 &4 6769 ¥Y—F PAR 72
. R2E2HUM)—EREEH

572 K & FRE{E 2% |GROSS| OUT | IN |HDCP| NET
1 |X B IE ] ©OTOSHIN &<K5| 78 39 39 9.4 68.6
2 | B & 7 © mEt/SL 77 38 39 6.0 71.0
3 |’ iF B OQ £iRC 77 38 39 5.3 71.7
4 | B B X OULAMREILX| 83 41 42 7.9 75.1
5 |l B F 0 AT | 19 39 40 39 75.1
6 [/ L £ BEE 85 42 43 9.8 75.2
7|12 8 % A 80 41 39 4.2 75.8
7 (A6 ¥ FR — BINEH 80 38 42 42 75.8
9 |IFZF K HEEG 88 42 46 | 119 | 76.1
10 [¥7 % 3¢ BA #krE 84 42 42 7.7 76.3
10 8% B F A& A—EUR 88 44 44 | 11.7 | 763
12 [/ Il = A ELAIR 87 40 47 | 106 | 76.4
12 K E & ELHER 84 43 41 7.6 76.4
14 |HEH £ X Eey Y /NS 87 41 46 | 103 | 76.7
5 X B A7V 74=IK| 85 41 44 8.0 77.0
16 [A # E X m =2 85 40 45 75 715
17 (¥ B R A& oW 88 45 43 | 103 | 777
18 (@ H == B Iz B2 158 88 44 44 | 100 | 78.0
19 [E£ JIl B Al mELsML 87 45 42 8.9 78.1
20 |/ B B B H & 89 43 46 | 107 | 783
21 |l K & A REES 88 41 47 9.4 78.6
22 /v Il B& Bh AR 86 44 42 7.2 78.8
23 | JIl #0 to 442X 86 43 43 7.0 79.0
24 |£ A H & &y B 89 42 47 9.9 79.1
25 |B I’ B = L2HEE 87 42 45 7.8 79.2
26 |A &R B8 s B 85 42 43 5.7 79.3
26 |lL X & HEERR 88 41 47 8.7 79.3
26|85 &8 D # F 84 40 44 4.7 79.3
29 |E # F F tHE 88 44 44 8.4 79.6
29 |11 U A &= moox 89 46 43 9.4 79.6
31 |fE K i3 #rE 88 42 46 8.1 79.9
2 |@ Lk & — ®iRG 86 42 44 6.0 80.0
VBVEE @ &k 88 44 44 7.9 80.1
U1 FBEE V4U74=IVA’ 90 39 51 9.6 80.4
B |FE EHE & ELAR 91 46 45 | 105 | 805
/| EEF ImREE R 87 43 44 6.3 80.7
36 (%2 WL E 2 B W 88 40 48 7.3 80.7
38 |f&E A [E A ¥ H 92 46 46 | 112 | 808
39 | H S A7VUT74=ME| 90 47 43 9.1 80.9
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=72 K 4% FRAE{E %%} |GROSS| OUT | IN |HDCP| NET
40 [5E K ®= | RU—LAOX| 90 44 46 8.6 81.4
40 |J\ £ | % 4 91 45 46 9.6 81.4
42 | b ERARX Hhha 92 43 49 | 103 | 817
43 |m 1§ B 5 ik 920 43 47 8.2 81.8
44 I B BEZHR 2/KRE 90 46 44 8.0 82.0
44 (A E2P) €iRG 94 43 51 120 | 820
4 Al & F A b B 3 92 47 45 | 100 | 820
47 |8 ¥ FE #iRC 94 48 46 | 11.7 | 823
48 | K 1¥ = {& HFMLE 93 46 47 | 105 | 825
48 |¥ £ IE & 3] 94 49 45 | 115 | 825
50 fERK HH = EF R 92 44 48 8.8 83.2
50 [ E Ml 5A ImR=E R 93 44 49 9.8 83.2
52 | H ® X b B 23 91 44 47 7.5 83.5
53 |1 Bk § & mAf 94 49 45 | 103 | 837
54 |l B %= F HEZE 91 46 45 6.9 84.1
55 | A #& & = = 91 48 43 6.3 84.7
56 | K B — = —EHEE 93 46 47 8.1 84.9
56 |k #F BHE /AN /N 95 47 48 | 10.1 84.9
58 |  HEXE YA2o7I5 | 93 44 49 7.9 85.1
59 |5 5 & A& EILEE 98 45 53 | 122 | 85.8
59 |B& BH F 1T % B 95 46 49 9.2 85.8
61 | & # E AR 97 52 45 | 10.7 | 86.3
62 |47 H BA YAUT4—A 94 49 45 7.6 86.4
63 |{F & = E 93 42 51 6.4 86.6
64 |IE 4 F B ®iRG 95 48 47 8.1 86.9
65 |7 B & T SAX X 93 48 45 6.0 87.0
66 |/ N 8 X L2HLEE 94 48 46 6.9 87.1
67 |E H = M-y 101 49 52 | 124 | 886
68 @B H F BA [A7YY774—-MN| 100 52 48 | 112 | 888
69 B JIl — X #’rE 96 48 48 7.1 88.9
70 |& H A VAN =1 99 50 49 7.2 91.8
71 |E B 8L 1T 442X 101 51 50 9.1 91.9
i FZ £iRC 100 56 44 8.1 91.9
X F & MEXE K&
& 2 & ALY Ri5
= H & = R & Ri5
E M A B B B Ri5
A 0 & 8l AN =1 Ri5
B B — EF R Ri5
2 @\ F # F R Ri5
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BifER 20134 118 8H (&) SMAH 38 & 6769 Y—F PAR 72
. RBA/HUN)—ERE

JE{L K 4 FRIRE%E |GROSS| OUT IN | HDCP | NET
1 |5 HABE0 Im & 88 46 42 20.0 68.0
2 | 1B ;L HE O ExXHAR 920 43 47 22.0 68.0
3 | & F O #EG 84 41 43 13.1 70.9
4 [INE R E O ¥ W 87 46 41 13.2 73.8
5 1B K & 18 JV-VENERR | 95 46 49 20.6 74.4
6 |&5 H B 2 O—EvR 92 44 48 16.2 75.8
7 | F R E BEEG 95 46 49 18.6 76.4
8 |E HE A I B2 B 92 43 49 15.5 76.5
9 |18 I/ F E E R 92 44 48 14.5 71.5
10 |8 Il § X =ERE 93 44 49 15.1 77.9
"M |XK B R ¥ B R 92 48 44 135 785
12 |F K E @ HFHoE 100 51 49 21.0 79.0
13 |XEH 1 # T T 93 43 50 13.7 79.3
14 |# B & & HFMLE 94 48 46 14.2 79.8
14 |F%F Xk E A 3] g 97 48 49 17.2 79.8
16 |78 Il & 17 EILEE 95 50 45 15.0 80.0
17 |8 X 7 % EH80H 98 46 52 17.6 80.4
18 )l B Fl X Iz 2 g O 98 49 49 17.4 80.6
ERER Yyv)-Zh39A| 96 49 47 14.9 81.1
2 (b B EZ SA44 X 100 53 47 18.8 81.2
21 [§ Il &’ = UMY 102 47 55 20.7 81.3
21 |#& N A #iRC 102 51 51 20.7 81.3
23 [ X 1B Fxl)—LAY| 94 49 45 12.6 81.4
24 |% ¥ E BA =Lt 98 51 47 16.3 81.7
B =8B — €£RG 95 50 45 13.2 81.8
26 | K B — BB ' I 108 52 56 26.0 82.0
27 | KA®R E — A4l 100 53 47 17.6 82.4
28 (W W R AN =1 98 51 47 14.0 84.0
29 |f8 # ¥ HEEG 102 46 56 17.8 84.2
0 |/ FE FE # Fz)—LA42| 100 50 50 14.3 85.7
30 [ Il & 17T 8 F 100 48 52 143 85.7
2 = E & ELAIR 101 50 51 15.0 86.0
33 | W X Fxl)—LAY| 102 50 52 15.6 86.4
34 |4 A B JY-vEMERR | 102 49 53 15.1 86.9
3B [k A F E HFHoE 106 55 51 18.1 87.9
36 (B th EEM | 7+-LAMEH | 104 49 55 15.4 88.6
3N |+ K B & LZEEE 103 53 50 14.3 88.7
38 N E - JYAITI5 | 106 55 51 15.0 91.0
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A I #rE Ri5
T % E A ELAIR Ri5
MEW A 7 = E Ri5
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BAMER 20134 118 8H (&)

B4z K £ FRAE{E%#8 [GROSS| OUT | IN |[HDCP| NET
1 (¥ 8 A X O &OEH#E 85 44 41 79 | 771
2 B8 8 » F © Hhmna 85 44 41 7.8 77.2
3 |JE H #EF O| HETHE 87 44 43 94 | 776
4 |2 @ 8% F © ELXAR 90 44 46 | 121 | 779
5 |8 B F 5 LEELWE | 86 42 44 6.9 79.1
6 |BE &N HJHETF H8H 92 44 48 | 124 | 796
7 |k EE F By IR 86 41 45 6.0 | 80.0
8 |BE M & F ®iRC 91 45 46 8.6 82.4
9 [F Nl % F /N 84 42 42 08 | 832
10 |2 E & F FUEE 920 43 47 56 | 844
11 [f8 H 1 = KEDE 99 52 47 | 145 | 845
12 [BE%Z B F Y4U24=R" | 98 51 47 | 134 | 846
BIXEHBHE FJULAREILX| 99 50 49 143 | 847
14 | K & & F y)-vEES 94 50 44 9.0 | 850
14 |7 |]& B F 7+-LAMEFH | 98 49 49 | 130 | 850
16 |85 K | F Yey)-ZH3mA 93 44 49 75 | 855
17 |8 ¥ BEBEF GA=R 3t} 100 51 49 | 139 | 86.1
17 |& Il BREF BEIE 93 49 44 6.9 86.1
19 |FH EZS L2EEE 94 47 47 7.0 | 870
20 [/ NIl DDEF % B 93 43 50 50 | 880
21 (B B EEF =ERE 103 49 54 | 143 | 887
22 |h U B/ F g 105 52 53 144 | 906
23 |/ M OH X AlJ—L AU X| 101 51 50 | 10.0 | 91.0
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BAfEE 20134 118 88 (&)

JE{sz K 4 FrEIRZE |GROSS| OUT IN | HDCP | NET
118 R MAXO| ®E = 97 48 49 189 | 78.1
2 [ A E FO =2 H 96 47 49 179 | 781
3 |KAE&F B O =8ERE 95 47 48 164 | 786
4 |F8 K KEFO|ELFBKRE| 98 50 48 176 | 80.4
5 |= ® BE 7 AR 97 51 46 165 | 805
6 |d & & & ko B 101 49 52 172 | 838
7 (W X B = SAA X 101 50 51 170 | 84.0
8 |ix # 1 K Iz BB A B2 106 54 52 194 | 866
9 |8 H XfEF |ELFEBKE| 105 53 52 172 | 878
10 |$7 Il HEF EILEE 107 54 53 16.7 | 90.3
"L o kK F WhTn 118 60 58 231 | 949
12 |lU A EEX | 7+-LAMEH | 122 57 65 256 | 964
13 |#2 H BE F EILEE 122 63 59 250 | 970
14 (N & B =% sz B2 158 115 58 57 16.7 | 983
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